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1. 57+87 = - 7 8
. 21. Which is smaller: 3 or §‘?
2.91-33= 22. 83% 87 =
3, 17+ 18+ 19 = 23. 625% 8 =
4. 3x15= 24. 11 feet = inches
5. Round 87842 to the nearest thousand’s place. 95, 3 = %
4
26. 13x13=
6. 173 +499 =
27. 72-5x7=
7.4236=
28. The GCD of 80 and 92 is
8. 21+29+21+29+21+29=
29. 368 - 149 = (decimal)
6. LX = {Arabic numerals)
30. 578304 + 221 =
* 10, 4839 + 3874 + 9734 =
31. 618+ 103 =
11. 25 x26 = c 11
32. 18 + TRT = {fraction)
12, 2022 + 587 =
33. Each lime costs 25¢. How much will two dozen limes
13. 400 x50 = cost? §
14, The remainder when 748 is divided by 4 is 34, 4istoSas24isto
15. What is the largest 4-digit number that has a “2” in the 15. % %18 =
thousand’s place?
36. 80,000 mitlimeters = meters
16. 132 x 11 = ‘
37. 1l4x2~8+4=
17 2+4+64+8+ 10+ 12 =
38. The year 2022 has how many days?
18. 404 + 44 + 440 + 444 + 404 =
39, 0.6x05= (decimal)
19. What is the swm of the digits in the tenth’s and
hundredth’s place of 5873.4927 40. 75 x76x77 =
* 20. 603 x 709 = 41. 452 - 352 =
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42,

43,

44,

45.

46.

47.

48.

49,

50.

51

52.

33

54,

55.

56,

57.

38.

59.

60.

61.

1
25 hours = minutes
Fg=7then8g-5=
53 (base 7} = {base 10)
61 - 3E = {mixed number)
3776 w
The area of a square whose sides measure 7 cm is
cm?
‘What percent of 25 is 47 %

The Sth term in the sequence 5, 9, 13, 17, ... is

8 = 1% = (mixed number)

Y399479 =

93 x 94 =

1626+ 3 =

6 =

How many quarters are equal to 45 dimes?

The LCM of 32 and 36 is

(mixed number)

If4x =20, then x =

472 =

A car drove 744 miles using 24 gallons of gas. What

was its gas mileage? mpg

333x 127 =

| =
1| -

62.

63,

64.

as.

66.

67.

68.

69.

71.

72.

73.

74,

75.

76.

7.

78.

79.

* 80.

Each exterior angle of a regular octagon measures

degrees
0.727272... = {fraction)
13x2-17x2=
How many diagonals does a regular nonagon have?

A box has chips numbered 1 through 30. One chip is
drawn at random. What is the probability of getting a
multiple of 37

483 x 101 =

(13 % 17 + 21) + 5 has a remainder of

IfSx>3x+ 12, then x >

. 444000 + 765 =
10% more than 300 1s
17+4%x12
—=
Vo900 =
63 %43 =
How many positive integral divisors does 28 have?

~1-2+4-8)-16=

93 4+92 =

square inches

1
55 square feet =

9 11 _

+ il = (mixed number)
i1 20
37 v380 + 39 v400 =
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For each estimation problem, the exact value (rounded to two decimal places) appeérs in square brackets.

(1 144

(2) 56

(3) 54

@) 45

(5) 83000

6 672

M7

(8) 150

(9) 60

*(10) 17525 - 19369

[18447]

(11) 650

(12) 2609

(13) 20000

a4 0

(15) 2999

(16) 1452

17 42

(18) 1736

(19) 13

*(20) 406151 — 448903

[427527]

(21) ?8—; 875
(22) 7221
23y 50

(24) 132
(25 75

(26) 169
(27 37

(28) 4

(29) 21.9

*(30) 2486 — 2747
[2616.76}

(31) 6
(32) :

2
{33) 6.00
(34) 30
(35) 12
(36) 80
(37 26
(38) 365

39 3

*(40) 416955 — 460845

{438900}

(41) 800

(42) 150
43) 51

(44) 38

i
35 3 G

(46) 49
47 16

(48) 37

I
49y 5 3

#(30) 601 — 663
[632.04]

(51) 8742
(52) 542
(53) 216
(54) 18

(55) 288

4
(56) 25 7

857y 5
(s8) 2209

39 31

*(60) 40177 — 44405

[42291]

10
(61) T

(62) 45

3
(63) 'E

(64) -8
(65) 27
(66) !

3
(67) 48783
(68) 2
(69) 6

*(70) 552 - 609
[580.39]

(71)—330
(72) 13
(73 30
(74y 2709
(75) 6
(76) ~11
(77) 810

(78) 792

{79 1 —%E-
220

80y 1427 — 1576
[1501.20]



